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SECTION 1

LISCENING COMPREHENSION

DIAGNOStIC PRE- TESt

=\
@ Time — approximately 35 minutes

(Including the reading of the directions for each part)

In this section of the test, you will have an opportunity to demonstrate your ability to understand con-
versation and talks in English, There are three parts to this section, with special directions for each
part, Answer all the questions on the basis of what is stated or implied by the speakers you hear. Do
not take notes or write in your test book at any time. Do not turn the pages until you are told to do so.

3 Part A

Directions: In Part A you will hear short conversations between two people. After each conversation
you will hear a question about the conversation. The conversations and questions will not be repeated.
After you hear a question, read the four possible answers in your test book and choose the best an-
swer. Then, on your answer sheet, find in the space that corresponds to the letter of the answer you
have chosen.

Listen to an example Sample Answer
(man) That exam was just awful.

(woman) Oh, it could have been worse.
(narrator) What does the woman mean?

In your test book, you will read:

CAJ The exam was really awful.

CBJ It was the worst exam she had ever seen.

CCI It couldn’t have been more difficult

CDJIt wasn’t that hard.
You learn from the conversation that the man thought the exam was very difficult and that the woman
disagreed with the man. The best answer to the questions, “What does the woman mean?” is (D), “It
wasn’t that hard”. Therefore, the correct choice is (D).
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1. (A) The coffee is much better this morning.
(B) He’s feeling bitter this morning
(C) The coftee isn’t very good.
(D) He cannot taste the butter.

2. (A) The two classes meet in an hour and a half.
(B) The class meets three hours per week.
(C) Each half of the class is an hour long.
(D) Two times a week the class meets for an hour.

3. (A) A few minutes ago, the flight departed.
(B) The fight will start in a while
(C) They are frightened about the departure
(D) The plane is going to take off soon.

4. (A) He hasn’t yet begun his project.
(B) He’s supposed to do his science
(C) He needs to start working on changing the
due date.
(D) He’s been working steadily his science project

5. (A) At the post office.
(B) In a florist shop.
(C) In a restaurant.
(D) In a hospital delivery room.

6. (A) The professor drowned the cells in a lab.
(B) The professor drowned the cells in a lab.
(C) The professor divided the lecture into parts.
(D) The biologist tried to sell the results of the
experiment.

7. (A) She needs to get a driver’s license.
(B) It is impossible to cash a check
(C) The man should check to see if he needs credit.
(D) A credit card can be used to get a driver’s
license.

8. (A) Housing within his budget is hard to locate.
(B) It’s hard to find his house in New York
(C) He can’t afford to move his house to New York
(D) Housing in New York is unavailable.

9. (A) The boss was working on the reports.
(B) He would have to finish the reports before the
end of next month.
(C) He was directed to stay late and finish some
work.
(D) He could finish the reports at home.

10. (A) The boisterous students made the teacher mad.
(B) The teacher angered the students with the
exam results.
(C) The students were angry that the teacher was
around.
(D) The angered students complained to the
teacher.

11. (A) The prices are reasonable
(B) The store is too far out of town.
(C) He would like the woman to repeat wheat she
said.
(D) He agrees with the woman.

12. (A) It has rarely rained this much.
(B) IT hardly rained this year.
(C) It is barely raining this year.
(D) It seldom rains so little

13. (A) He needs to do a better job writing questions.
(B) His writing must certainly be improved
(C) Without the questions, he cannot write the
answers.
(D) He needs to understand the written questions
better.

14. (A) The agent was standing in line with his
passport.
(B) The line to get new passports is very long.
(C) The woman must wait her turn to get her
passport checked.
(D) He can check her passport instead of the agent.
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15. (A) He couldn’t finish closing the library book.

(B) He hadn’t finished the library assignment, but

he was close.

(C) He was working on the assignment when the

library closed.

(D) His homework was incomplete because the

library wasn’t open.

16. (A) He wishes the hard work had had a better result.
(B) He thinks the lawyer hardly prepared
(C) He wishes the lawyer hardly prepared.
(D) He thinks the lawyer worked for free.

17. (A) The history class begins next week.
(B) He thinks the papers should be turned
(C) He has already done the paper for next week.
(D) The papers are not due next week.

18. (A) He’s not really happy.
(B) The contractor’s work was
(C) He would rather work with the contractor
himself.
(D) He was already contacted about the work.

19. (A) the man should try another type of paper.
(B) The man should locate a typist tomorrow
morning.

(C) The man should make a tape in the morning
(D) The man should complete the paper without
help.

20. (A) She’d like some pie.
(B) It’s easy to buy it.
(C) The task the man’s working on isn’t
difficult.
(D) It’s easier to prepare pie than do what the
man is doing.

21. (A) He reported that the time for the budget
meeting had been set.
(B) He is always late in submitting his accounting
figures.
(C) He never manages to budget his time well.
(D) He is never too late in turning in his reports.

22. (A) The repairs would require an extension.
(B) The car is going to need a lot of repairs.
(C) Buying a new car would be quite
expensive
(D) The mechanic extended the repair
warranty.
23. (A) Betty wrote the letter as directed.
(B) The directions were given to Betty in a letter.
(C) Betty will follow the instructions later.
(D) Betty worked exactly as instructed.

24. (A) Wlater’s had a lack of success with his
business.
(B) Walter’s failed in business.
(C) Walter’s new company is doing rather well.
(D) Walter hoped to succeed in business.

25. (A) He should put the organ in the closet
(B) The closet has already been organized
(C) He needs to rearrange the closet.

(D) He wishes the closet were closer.

26. (A) She didn’t do the work.
(B) She gave the assignment her best effort.
(C) She finished the assignment even though it
was difficult.
(D) She gave the man s signal.

27.(A) She said some terrible things.
(B) She didn’t say anything nice.
(C) She didn’t have any nice things.
(D) She said really wonderful things.

28. (A) New employees are rarely initiated into the
company.
(B) New workers don’t generally undertake
actions on their own.
(C) New employees are initially rated.
(D) It’s rare for employees to make new
suggestions.
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29. (A) The woman is more than a week late.
(B) The children would have wrecked the house
later.
(C) The woman was so late that she was a wreck.
(D) He’s glad that she was not nay later.

3 Part B

30. (A) He had not gone to the store.
(B) He was still the market
(C) He was going to take care of the shopping.
(D) He always went to the market.

Directions: In this part of the test, you will hear longer conversation. After each conversation, you
will hear several questions. The conversations and questions will not be repeated.

After you hear a question, read the four possible answers in your test book and choose the best answer.
Then, on your answer sheet, find the number of the question and fill in the space that corresponds to

the letter of the answer you have chosen.

Remember, you are not allowed to take notes or write in your test book.

31. (A) She’s senior.
(B) She’s junior
(C) She’s transfer student
(D) She’s a graduate student.

32. (A) How to transfer to a junior college.
(B) How to find his way around campus.
(C) The course requirements for a literature
major.
(D) Who won the campus election.

33. (A) Three.
(B) Five.
(C) Eight.
(D) Ten.

34. (A) American literature.
(B) world literature.
(C) Literary analysis.
(D) Surveying.

3 Part C

35.(A) In a book.
(B) From a television program.
(C) During a trip that she took.
(D) From a lecture.

36. (A) To communicate with other dolphins
(B) To recognized objects in the water.
(C) TO learn human language
(D) To express fear.

37.(A) Five.
(B) Fifteen.
(C) Fifty
(D) Five hundred

38. (A) It is limited.
(B) It is greater than human intelligence
(C) It Is less than previously thought.
(D) We are beginning to learn how much
they have.

Directions: In this part of the test, you will hear several talks. After each talk, you will hear some
questions. The talks and questions will not be repeated.

After you hear a question, you will read the four possible answers in your test book and choose the
best answer. Then, on your answer sheet, find the number of the question and fill in the space that
corresponds to the letter of the answer you have chosen.
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Example
v d

On the recording, you hear:

(narrator) Listen to an instruct talk to his class about painting.

(man) Artist Grant Wood was a guiding force in the school of painting known as American
regionalist, a style reflecting the distinctive characteristics of art from rural areas of the United States.
Wood began drawing animals on the family farm at the age of three, and when he was thirty — eight
one of his paintings received a remarkable amount of public notice and acclaim, This painting, called
“American Gothic” is a amount of public notice and acclaim, This painting, called “American Goth-
ic,” 1s a starkly simple depiction of a serious couple staring directly out a the viewer.

Now listen to a sample question.

(narrator) what style of painting is known as American regionalist?

In your test book, you will read: ~ CAJ Art from America’s inner cities.
CBJ Art from the central region of the U.S.
CCJ Art from various urban areas in the U.S.
CDJ Art from rural sections of America.
The best answer to the question, “What style of painting is known as American regionalist?” is (D)
Art from rural sections of America. “Therefore, the correct choice is (D).
Now listen to another sample question. Sample Answer
(narrator) What is the name of Woods most successful painting?

In your test book, you will read:  CAJ “American Regionalist”
CBJ “The Family Farm in lowa”
CCJ “American Gothic”
CDJ “A Serious Couple.”
The best answer to the question. “What style of painting is known as American regionalist? is (D),
“Art from rural sections of America.” Therefore, the correct choice is (D).
Now listen to another sample question Sample Answer
(narrator) What is the name of Wood’s most successful painting

In your test book, you will read:  CAJ “American Regionalist”
CBJ “The Family Farm in lowa”
CCI “American Gothic”
CDJ “A Serious Couple”
The best answer to the question “what is the name of Wood’s most successful painting? Is (C), “Amer-
ican Gothic” Therefore, the correct choice is (C).
Remember, you are not allowed to take notes or write in your test book.



39. (A) To protect its members.
(B) To save the natural environment
(C) To honor the memory of John Muir.

(D) To improve San Francisco’s natural beauty.

40. (A) For less than a year.
(B) Only for a decade.
(C) For more than a century.
(D) For at least two centuries.

41. (A) San Francisco.
(B) All fifty states.
(C) The Sierra Nevadas.
(D) The eastern U.S.

42. (A) All over the world.
(B) In the entire United States.
(C) Only in California.
(D) Only in the Sierra Nevadas.

43. (A) Students signing up for athletic teams.

(B) Students going on a tour of a university

campus.
(C) Students playing various sports.

(D) Students attending a university dedica-

tion ceremony.

44. (A) Membership on an athletic team.
(B) Enrollment in an exercise class.
(C) A valid student identification card.
(D) Permission from a faculty member.

45.

46.

(A) To the tennis courts.

(B) To the arena.

(C) To the gymnasium.

(D) To the athletic Department office.

(A) Go to the Art Center.

(B) Sign up for sports classes.
(C) Visit the exercise room.
(D) Watch a football game.

47. (A) Science.

48.

49.

50.

(B) Art.
(C) Literature.
(D) Music

(A) They are completely different.

(B) They are somewhat similar but have an
essential difference.

(C) They are exactly the same in all respects.
(D) They are unrelated.

(A) Objective.

(B) Idealistic.

(C) Philosophical
(D) Environmental

(A) Heredity.
(B) Environment
(C) Idealism.
(D) Natural laws.

This is the end of the listening Comprehension Pre- Test.

Turn off the recording.
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Example
v

On the recording, you hear:

(man) Billy really made a big mistake this time.
(woman) Yes, he forgot to turn in his research paper.
(narrator) What does the woman say about Billy?

In your test book, you read:
CAJ Tt was the first time he made a mistake.
CBJ He forgot to write his paper.
CCJ He turned in the paper in the wrong place.
CDJ He didn’t remember to submit his assignment.
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1. (man) Can you tell me if today 's matinee (/) She has strong ideas about movies.
is a comedy, romance, or western? (B) She prefers comedies over westerns and romances.

(C) She doesn’t like today’s matinee.

(woman) I have no idea. (D) She does not know.
(narrator) “What does the woman mean?

, (A) Barb answered the bell.
2. (woman) Was anyone at home at Barb’s (B) The house was probably empty.

house when you went there to deliver the (C) The bell wasn’t in the house.
package? (D) The house doesn’t have a bell.
(man) I rang the bell, but no one answered.

(narrator) “What does the man imply?

3. (woman) You just got back from the (A) It’s unlikely that he’ll go to the interview.
interview for the internship (B) He thinks he’ll be recommended for a high-level job.

How do you think it went? (C) The interview was apparently quite unsuccessful.
’ D) He h llent interview.

(man) I think it's highly unlikely that I get the ~ (0) 1i¢ had an excellent interview

job.

(narrator) “What does the man suggest“?
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1. (A) He is leaving now.
(B) He has to go out of his way.
(C) He will not be leaving soon.
(D) He will do it his own way.

2. (A) He locked the door.
(B) He tried unsuccessfully to get into the house
(C) He was able to open the door.
(D) He left the house without locking the door.

3. (A) she doesn’t like to listen to turkeys.
(B) she thinks the dinner sounds special.
(C) she especially likes the roast turkey.
(D) she’d prefer a different dinner.

4. (A)He’ll be busy with her homework tonight.
(B) He can’t help her tonight.
(C) He’s sorry he can’t ever help her.
(D) He’ll help her with her physics.

5. (A) Her eyes hurt.
(B) She thought the lecture was great,
(C) The class was boring.
(D) She didn’t want to watch Professor Martin.

WS Bolaze SLL jlaw 4 1) 095 dx g dan 0uS Ol
6. (A) Not all the bills have been paid.
(B) They don’t have enough credit to pay the bills.
(C) What she said on the phone was not credible.
(D) He used a credit card to pay some of the bills.

7. (A) She’ll call back quickly.
(B) She’ll definitely be back by 4:00.
(C) She’ll give it back by 4:00.
(D) She’ll try to return fast.

8. (A) She hasn’t seen Tim.
(B) Tim was there only for a moment.
(C) Tim was around a short time ago.
(D) Tim will return in a minute.

9. (A) She doesn’t like the place he chose.
(B) She doesn’t want to get into the car.
(C) She’s glad the spot is reserved
(D) They can’t park the car there.

10. (A) There’s plenty to eat.
(B) The refrigerator’s broken
(C) The food isn’t in the refrigerator
(D) He’s not sure if there’s enough

b B3 o o 311, gty ¥ C’)'-Q-"c

Example
On the recording, you hear:

v

(woman) Why is Barbara feeling so happy?
(man) She just started working in a real estate agency.
(narrator) What does the man say about Barbara?

In your test book, you read:

CAJ She always liked her work in real estate.

CBJ She began a new job.

CCJ She just bought some real estate.
CDJ She bought a real estate agency.
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1. (woman) Did you see the manager about
The job in the bookstore?

(man) Yes, and I also had to fill out an application.
(narrator) What does the man mean

2. (man) We’re planning to leave for the trip
at about 2:00.

(woman) Couldn’t we leave before noon?
(narrator) What does the woman ask?

3. (man) Was the concert well received?
(woman) The audience applauded for a long time
after the performance.

(narrator) What does the woman say about the
concert?
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(A) He got a job as bookstore manager.

(B) The bookstore was not accepting applications.
(C) He saw a book about how to apply for jobs.
(D) It was necessary to complete a form.

(A) If they could leave at noon.
(B) If it is possible to go by 12:00.
(C) Why they can’t leave at noon.
(D) If they could leave the room.

(A) The performance went on for a long time.

(B) There was applause throughout the performance.
(C) The people clapped on and on after the concert.
(D) The audience waited for a long time for the
concert to begin.
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1. (A) The final exam was harder than the others.

(B) There were two exams rather than one.
(C) He thought the exam would be easier.
(D) The exam was not very difficult.

2. (A) He’s not feeling very well.
(B) He’s rather sick of working.
(C) He’s feeling better today than yesterday.
(D) He’d really rather not answer the question.

3. (A) The company was founded about a year
ago.
(B) It was just established that he could go into
business.
(C) The family is well established.
(D) The business only lasted a year.
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4. (A) He did not look at the right schedule.
(B) The plane landed in the right place.
(C) The plane arrived on time.
(D) He had to wait for the plane to land.

5. (A) She’d rather go running.
(B) She doesn’t want to go into the pool.
(C) She’ll change clothes quickly and go swimming.
(D) She needs a sweat suit to go running.

6. (A) The firefighters saved the homes. for last.
(B) A firefighter saved the hillside last night.
(C) The homes on the hillside were burned.
(D) The houses weren’t destroyed.
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7. (A) There’s enough soup. 9. (A) It profited from previous mistakes.
(B) The spices are adequate. (B) It earned a lot of money.
(C) She thinks the soup’s too salty. (C) This was the last year that it would make a
(D) The man should add more salt and pepper. profit.

(D) It was not so successful.
8. (A) He was lucky to receive a grant for his

studies. 10. (A) Chuck>s bank account has too much
(B) He used his fortune to pay his fees. money in it.
(C) He is a scholar at a college with low fees. (B) He thinks Chuck has the wrong kind of bank
(D) He paid to get a scholarship. account.
(C) He thinks that Chuck is on his way home
from the bank.

(D) There isn’t enough money in Chuck’s account.
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Example
v

On the recording, you hear:

(man) Why couldn’t Mark come with us?
(woman) He was searching for a new apartment.
(narrator) What does the woman say about Mark?
In your test book, you read:

CAJ He was in the department office.

CBJ He was looking for a place to live.
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CCJ He was working on his research project.
CDJ He had an appointment at church.
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1. (woman) I heard that Sally just moved  (A) Sally has no sense of responsibility.

into a new, big house near the beach. (B) Sally sent her friend to the house.
(man) But Sally doesn’t have a cent! (C) Sally has no money.
(narrator) What does the man mean? (D) Sally is on the set with her.

2. (woman) Did they get the new car they  (A) They locked the map in a car.

wanted? (B) They looked many times in the car.
(man) No, they lacked the money. (C) It cost a lot of money when the car leaked oil.
(narrator) What does the man mean? (D) They didn’t have enough money to buy another car.

3. (man) Have you finished packing yet? (A) It’s important to pack the suitcases.

(woman) You should call the porter to get the (B) They need help carrying the.ir bags. '
suitcases. (C) The man should pack his suit in case he needs it.

(narrator) What does the woman mean? (D) The suitcases are quite portable.
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1. (A) She has to wait for some cash. 6. (A) Twenty pairs of shoes are on sale.
(B) The waiter is bringing a glass of water. (B) The shoe salesclerk spent twenty dollars on
(C) The lawn is too dry. pears.
(D) She needs to watch out for a crash. (C) The shoes cost twenty dollars.

(D) The shoes could be repaired for twenty dollars.
2. (A) The sweater’s the wrong size.

(B) The man’s feet aren’t sweating. 7. (A) Tom tended to dislike biology lab.
(C) The sweater makes the man seem. fat. (B) Attendance wasn’t necessary at biology lab.
(D) The sweet girl doesn’t feel right. (C) Tom went to biology lab.

(D) There was a tendency to require biology lab.
3. (A) He has been regularly using a computer.

(B) He communicates with a Boston company. 8. (A) The meal will be served at noon.

(C) He regularly goes to communities around (B) The males should be driven there by noon.
Boston. (C) He’s expecting the ice to melt before noon.
(D) He has been traveling back and forth to Boston. (D) The letters ought to be delivered at 12:00.

4. (A) He thought the lesson didn’t matter. 9. (A) The weather will probably get worse later.
(B) He couldn’t learn the lesson. (B) The newspaper headlines described a bad storm.
(C) He learned a massive number of details. (C) There was news about a headstrong man.

(D) He didn’t like most of the lesson. (D) He had a new bed.

5. (A) Some animals started the first fire. 10. (A) If she could do the grocery shopping.
(B) Animals are killed by forest fires. (B) If she prefers cooked vegetables or salad.
(C) In the first frost, animals die. (C) If she could help prepare the salad.

(D) Frost can kill animals. (D) If she minds shopping for vegetables.
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1. (A) He would like some iced coffee.
(B) He wants to stop drinking coffee.
(C) A drink seems like a good idea.
(D) He needs to drink some thing to stop his
coughing.

2. (A) She would prefer a sunny day.
(B) The park is too crowded .
(C) She would like a place that is not so loud.
(D) She can not walk because she’s too old.

3. (A) He should open an account.
(B) He should take a ride on a ship.
(C) He should try to keep the cost cheap.
(D) He should try some thing monotonous to get
to sleep.

4. (A) The department is not changing the
requirements.
(B) He hasn’t heard anything about the change.
(C) The changes are believable.
(D) What has happened is incredible to him.

5. (A) The wait has taken close to an hour.
(B) They were stranded in their car.

(C) Most of the people have been in line for hours.

(D) They made a line in the sand.

6. (A) The instructor is selecting several passages.
(B) The conductor is fair to the passengers.
(C) The stamp collector is conducting his business.
(D) The riders are paying for the train trip.

7. (A) The managers will take the train to the program.

(B) A program to develop new managers will
commence soon.

(C) The new management program is very weak.
(D) The program will be maintained to the letter.

8. (A) The fire started to attack the building.

(B) The firefighter stared at the attacker.

(C) The fire probably began at the top of the
building.

(D) The firefighter started to attack the fire .

9. (A) He assured the woman that he knew the truth.

(B) He is sure that it isn’t new.

(C) He thought that the woman was aware of
what happened.

(D) He soon will know the truth.

10. (A) The art professor is not one of his fans.
(B) His drawings were amazing.
(C) The catches that he made were fantastic.
(D) His sketches showed a fantasy world
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Example
On the recording, you hear:

v
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(woman) Can you tell me what assignments I missed when [ was absent from your class?
(man) You missed one homework assignment and a quiz.
(narrator) Who is the man?
In your test book, you read:
CAJ A news paper editor.
CBJ A police officer.
CCIA teacher.
CDJ A student.
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Example
v

On the recording, you hear:

(woman) Are you going to read those books here in the library?
(man) I think I’d rather check them out now and take them home.
(narrator) What will the man probably do next?

In your test book, you read:
CAJ Sit down in the library.
CB3J Look for some more books.
CCJ Return the books to the shelves.
CD3J Go to the circulation desk.
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Example
v

On the recording, you hear:

(woman) Are you going into the water, or are you just going to
lie there on the sand?
(man) I think I need to put on some suntan lotion.

(narrator) Where does this conversation probably take place?

In your test book. you read:
CAJ At a beauty salon.
CBJ At the beach.
CCJ In a sandbox.
CDJ At an outdoor restaurant.
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1.(man) I’d like to deposit this check in my account,

please.
(woman) Would you like any cash back?
(narrator) Who is the woman?

2. (woman) Have you deposited your paycheck
yet?

(man) No, but that’s next on my list of errands.
(narrator) What will the man probably do next?

3. (man) Did you get the bread, eggs, and milk?

(woman) Now we need to stand in line at the checkout

counter

(narrator) Where does this conversation probably

take place?
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(A) A store clerk.
(B) A bank teller.
(C) An accountant.
(D) A waitress.

(A) Earn his paycheck.

(B) Write a check for a deposit on an apartment.
(C) Go to a bank.

(D) Make a list of errands to run.

(A) In a restaurant.
(B) At a bakery.
(C) On a farm.

(D) In a market.
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. (A) In a photography studio.
(B) In a biology laboratory.
(C) In an office.

(D) In the library.

. (A) He’s a pilot.
(B) He’s a flight attendant.
(C) He’s a member of the grounds crew.
(D) He works clearing land.

. (A) Wash the dishes immediately.
(B) Use as many dishes as possible.
(C) Wash the dishes for as long as possible.
(D) Wait until later to clean up.

. (A) In a bank.
(B) In a restaurant.
(C) At a service station.
(D) In a beauty salon.

. (A) A salesclerk in a shoe store.
(B) A shoe repair person.
(C) A party caterer.
(D) A salesclerk in a fixtures department.
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. (A) On a playground.

(B) In a parking lot.
(C) At a zoo.
(D) In a photo studio.

. (A) Respond to the mail.

(B) Put the letters in a file.
(C) It depends on where the file is.
(D) File the answers she received to the letters.

. (A) In an airplane.

(B) In a police car.
(C) In a theater.
(D) At a fireworks exhibit.

. (A) Take care of Bob.

(B) Invite Bob to dinner.
(C) Let Bob know that they accept his invitation.
(D) Respond to the woman’s question.

10. (A) A pharmacist.

(B) A dentist.
(C) A teacher.
(D) A business manager.
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Example
v

On the recording, you hear:

(man) Did Sally go to the bank this morning?
(woman) Yes, she did. She got a new checking account.
(narrator) What does the woman imply?

In your test book, you read:
CAJ Sally wrote several checks.
CBJ Sally wanted to check up on the bank.
CCIJ A new checking account was opened.
CDJ Sally checked on the balance in her account.
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1. (woman) Alice needs to pay her tuition (A) Alice’s education has paid off.

today. (B) Alice’s tuition needs to be paid.
(man) But her tuition has already been (C) Alice has already paid her fees.

paid. (D) Alice has already received the money.

(narrator) What does the man imply?

2. (man) Have you been taking good care of  (A) She drank some water on the lawn this morning.

the lawn ? (B) She waited for him on the lawn this morning.
(woman) [ watered it only this morning. (C) The lawn has already been watered today.
(narrator) What does the woman mean? (D) She wanted a new lawn this morning.

3. (man) Did you hear the news about the (A) Someone located the girl.

child who was lost in the park? (B) She heard about the new park from the child.
(woman) Yes, and I heard that she was just ound!  (C) The child found her lost pet.

(narrator) What does the woman mean? (D) The child was the last one in the park.
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1. (A) If the restaurant is on the corner.

(B) If the man would like to go to the restaurant.
(C) If the vegetables are fresh
(D) If vegetarian food can be obtained.

2. (A) He admitted that he wanted to go to law

school in the fall.

(B) The law school accepted him as a student.
(C) The law professor admitted that he would be
a student in the fall semester.

(D) He would be admitted to law school after the
fall semester.

3. (A) Mark’s plants were cared for in his absence.

(B) Mark’s plan was to be out of town.

(C) Mark was careful about his plans for the out-
of-town trip.

(D) She was careful while Mark was gone.

. (A) The lights in the trees were destroyed in the
storm.

(B) The storm damaged the trees.

(C) The falling trees destroyed a store.

(D) In the light the destruction of the storm could
be seen.

5. (A) She was broke from skiing.

(B) She went skiing in spite of her accident.
(C) Her leg was hurt on a skiing trip.
(D) Her skis were broken in the mountains.

6. (A) The road the horses took was long and hard.

(B) It was hard to find the hidden houses.

(C) The riders worked the horses too much.
(D) It was hard for people to ride the horses for
long.
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7. (A) He didn’t want the coffee that the woman

ordered.

(B) He wasn’t sure if the woman wanted coffee.
(C) He assumed the woman had ordered coftee.
(D) He was unaware that coffee had already been
ordered.

. (A) The car was in the left parking lot at the

airport.

(B) The friends parked their car at the airport.
(C) The airport couldnyt hold a lot of cars.
(D) There were a lot of cars to the left of the
parking lot.

. (A) The students pointed at Mac.

(B) Mac was present when the other students
made the appointment.

(C) The class representative suggested Mac to the
other students.

(D) Mac was chosen by his classmates to
represent them.

10. (A) After the earthquake, the insurance company

came out to inspect the damage.

(B) The insurance company insisted that the
building be repaired to meet earthquake safety
standards.

(C) The inhabitants paid their premiums after the
earthquake

(D) The insurance company paid for the
earthquake damage.
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Example
v

On the recording, you hear:

(man) Do you know who is in the band now?
(woman) I heard that Mara replaced Robert in the band.
(narrator) What does the woman say about the band?

In your test book, you read:
CAJ Robert became a new member of the band.
CBJ Robert took Mara’s place in the band.
CCJ Mara didn’t have a place in the band.
CDJ Mara took Robert’s place in the band.
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1. (man) Why is Bill not at work this Week? (A) The doctor decided to take some time off from
(woman) His doctor made him take a Week? work.
(narrator) What does the woman mean? (B) The doctor told Bill he wasn’t too weak to work.

(C) Bill was mad when the doctor took some time off.
(D) Bill took a vacation on his doctor’s orders.

2. (man) Why is Paul going back home this (A) Paul is getting married this summer.

summer? (B) Paul’s sister is returning from Vermont to get
(woman) He’s returning to Vermont for his married.

sister’s wedding. (C) Paul will be there when his sister gets married this
(narrator) What does the woman mean? summer.

(D) Paul’s sister is coming to his wedding in Vermont.

3. (man) Did you hear that John’s uncle Died? (A) john received an inheritance when his uncle died.
(woman) Yes, and John was named beneficiary in  (B) It’s a benefit that john’s name is the same as his
his uncle’s will. uncle’s.

(D) john’s uncle gave him a beneficial 7name.

C (narrator) What does the woman mean ? (C) John knows that his uncle will come to the benefit.
D
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1. (A) The passenger waited at the corner.
(B) The passenger looked for a taxi at the corner.
(C) The cab driver waited for the passenger.
(D) The passenger cornered the waiting taxi driver.

2. (A) It was hard for her to hear Jane last night.
(B) Jane gave a harp recital last night.
(C) Jane was playing hard while she was hurt.
(D) She played the harp last night for Jane.

3. (A) The baby sister went to bed quite early.
(B) The children were forced to go to bed early.
(C) The baby-sitter made the bed after the
children got up.
(D) The baby-sitter did not stay up late.

4. (A) The man taught his son about football.
(B) The boy is receiving the ball from his dad.
(C) The ball is being tossed into the air by the boy.
(D) The man is playing with the ball in the sun.

5. (A) The students were told to go listen to the
speaker.

(B) The professor attended that evening’s lecture.
(C) The students were given directions to the
lecture.

(D) The professor was directed to the lecture hall.

6. (A) The manager went to the supply room.
(B) The clerk set supplies on the floor.
(C) The clerk went to the supply room at the
manager’s request.
(D) The clerk backed into the manager in the
supply room.
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7. (A) The librarian was quite reserved with the

students for two days.

(B) Within two days the librarian had the books
for the students.

(C) The librarian asked the students for the books.
(D) The students put the books on hold for two
days.

8. (A) The chairman decided that Tony would serve

on the board for another year.

(B) The chairman elected the board.

(C) The board decided Tony could be chairman
after one year.

(D) Tony became chairman for one more year.

9. (A) The judge defended the murderer.

(B) The judge tried to protect the defendant from
the murderer.

(C) The judge said that the defendant was a
criminal.

(D) The defense couldn’t make a judgment about
the criminal.

10. (A) The woman should announce the names of

the committee members.

(B) He is thankful to be appointed to the
committee.

(C) He is sure about the time of the appointment
with the committee.

(D) The woman will serve on the committee.
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1. (A) In a department store.
(B) In a stationery store.
(C) At the post office.
(D) At the airport.
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2. (A) The teacher gave the students a hand.

(B) The term papers were turned in.
(C) The students got the papers from the office.
(D) The teacher handed the papers to the students.
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3. (A) The attendant checked the oil in Mark’s car.
(B) Mark checked to see if he had enough oil in
his car.
(C) Mark checked with the service station
attendant.
(D) Mark wrote a check to pay for the oil.

4. (A) A delivery man.
(B) A famous chef.
(C) A clerk in a fast-food restaurant.
(D) An airline steward.

5. (A) They need new print for the additional copies.

(B) They can make extra copies if necessary.
(C) Printers are needed for the additional copies.
(D) Additional copies are needed immediately.

6. (A) The professor bought two books.
(B) The students had to purchase two books.
(C) The students sold two books to the professor.
(D) The students were required to read two books
by the professor.
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1. (A) He seemed to be rather hungry.
(B) She was quite angry at him.
(C) He was trying to hang the posters.
(D) She believes he was mad.

2. (A) The parents are going to stay up late.
(B) The parents have given Hannah her allowance.
(C) Lately, the parents have not been so loud.
(D) Hannah does not have to go to bed early.

3. (A) At a department store.
(B) At a service station.
(C) At a collection agency.
(D) In a delivery room.
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7. (A) The doctor returned to the office.
(B) Jim asked the doctor to come to the office.
(C) The doctor will not return until next week.
(D) Jim was told to come back.

8. (A) Go to work in the lab.
(B) Sample the work from the lab.
(C) Have the samples delivered.
(D) Send a note to the lab.

9. (A) Mary became the new class president.
(B) Sue took her place as class president.
(C) In place of Mary, Sue became senior class
president.
(D) The senior class president replaced Sue and
Mary.

10. (A) The panel was analyzed on the television
program.

(B) A committee evaluated recent political events.
(C) The program featured a psychoanalyst.
(D) The panel discussed the television program.
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4. (A) She just broke some eggs.
(B) They need to eat fast.
(C) She is serious about the boat.
(D) He has a choice to make.

5. (A) It was urgent that Ellen do her best.
(B) He really urged Ellen to do more.
(C) He was encouraged by Ellen to try harder.
(D) Ellen told him that she was trying to do better.

6. (A) The car stalled on the road.
(B) Someone took the car.
(C) Rob sold his car.
(D) Rob heard someone steal his car.



7. (A) Buying the bigger container.
(B) Putting the milk in the cart.
(C) Taking a carton that is smaller.
(D) Getting the milk tomorrow instead.

8. (A) The receptionist welcomed the business
people.
(B) The man created a shipping and receiving
business.
(C) The businesspeople were rather greedy.

(D) The businesspeople greeted the receptionist.

9. (A) The police officer was stationed near the
tourist.
(B) The tourist was forced to accompany the
police officer.
(C) The tourist became mad at the police station.
(D) The tourist stated that the police officer never
came.

10. (A) He hasn’t seen her ideas.
(B) It was a terrible deal.
(C) He doesn’t like the idea.
(D) It sounds magnificent to him.
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Example
v

On the recording, you hear:

(man) How did they get to their grandmother’s house in Maine in only five hours?
(woman) They didn’t drive slowly on the trip to Maine.
(narrator) What does the woman say about the trip?

In your test book, you read:
CAJ They drove rather quickly.

CBJ They couldn’t have driven more slowly.

CCJ They wanted to travel slowly to Maine.

CDJ They didn’t drive to Maine.
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Not sad=ha; .
PPy Tom is not sad about the results. 0’t L, ot :o0eldly i
Nobody... on time=late Nobody arrived on time. nobody, none, nothing, s e ple
Never works hard= lazy Sal never works hard. never
Insane=not sane=crazy The patient was insane. dis- dn- wn- ;e slasigin
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